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Ex/CBCS/UG/GE/1.17/2018

BACHELOR OF ARTS EXAMINATION, 2018
(1st Year, 1st Semester)

SANSKRIT (GE)

[ Sanskrit Grammar & Comprehension]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. Join the underlined words in Sandhi (any three) : 1×3=3

(a) EF¼FY JæF èFFõ·FF»FXa £FF¶FæÜF:—

(b) ;FeFÛFW E·F PæFÃFáFÜFXNPõ¶F—

(c) EF¶Fa·FFµFFÜF æF: èFõ·Fk ÎF Òù¶F]aÛFh EÎFF;FPõF—

(d) ÛFFÎF: Pù ÛFù¶FFk ÍFÎFÛFh—

(e) ;F;FÎFW ÑF[µFa: ˜FÎ½X ÚFFP¶F—

2. Disjoin the Sandhi of the underlined words (any three) :
1×3=3

(a) EÎæFÜF: P=e+ÜF¶FFÛF—

(b) ÎF ÒÚFF¶FÞáFk ¡ÜFXP¶Fß¼WP¶F æFõF]ÍFF¶FáFF¶Fh—

(c) =+UP¶FaÜFaõÜF õF ¡FUæFP¶F—
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(d) EPùkõFF ÑFÞÛFX ÍFÛFa:—

(e) ÛFùF¦¡FÜF: áFÚF¶FW—

3. Account for the case-ending (any five) : 1×5=5

(a) EÛÚFX ÙFFáF=+! GùF;F˜š—

(b) PèFðÜF: ÛFFõFk æÜFF=+ÞµFk ÑF*P¶F—

(c) ÞFÛF: èÜFFÛFÛFh EPÚF=e]+ÍÜFP¶F—

(d) õF ÛFþk èF¶Fk ÍFFÞÜFP¶F—

(e) PÑF·FF õFF=k+ ÑF]·F: PæFÃFáFÜFk ;F˜šP¶F—

(f) ÛFèF=+FÜF ÍF[ÛFk ¼WPù—

(g) ÛFÎF]ðÜF: õFÑFFa¼h PÙFÚFWP¶F—

4. Give resulting forms (any three) : 1×3=3

(a) ÑFPÞ ¶ÜF¡Fh + áÜFÑFh

(b) õFWæFh + èFFÎF˜Fh

(c) =]+Î¶FU + ³=h+

(d) EF ;FÛFh + ƒ¶F (ÑF]k. Ò»FÛFY=+æF˜FÎFW)

(e) ;FÛFh + èF¶F_ (õ·FU. Ò»FÛFY=+æF˜FÎFW)

5. Identity the genders of the following words with reasons (any
three) : 1×3=3

ÙF]PÊ, =+áF·F, õFÛÑF¼h, ;FÛFÎF, ¼WæF¶FF—
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6. Translate any two of the following passages into sanskrit :
2.5×2=5

(a) Two friends took a journey through a forest. On the
way they saw a bear approaching them.

(b) In ancient times, there was in the country of Kalinga

a city, Sobhavat i  by name. The city was ruled over
by Pradyumna who was known for his great powers
and strength.

(c) The rich man devoted himself to the service of the poor.
He did not live in luxury, but he died in peace.

7. Read the following passage carefully and answer the
following questions in simple sanskrit. 8

=+PõÛFkPè˜F¼PÍFòFÎFW ÙF eü¼¸FÎFFÛFF ÙFeFüµF: ÒP¶FæFõFP¶F— õF ˜F
ÒÜFX¡FÎFæFèFF¼h PæF¼WèFk ÒPõ»F¶F:— õæFÛFF·FFPÚFPù¶F: ÜF¼h æF¶F hõF
=+»FÛFW=+F=+U æFe¡FPõF? ¶F¼PÎæFðÜF¶FFk =+Pè˜F¼h PÂ¶FUÜF: õFùFÜF:— õF
EFù <EÛÙF ÛFF ÚFYðFU:— PÎFßÑF½æFXNÜFk ÛFF;Fa:— =+FÜFaæFèFF¼W=+F=+U
;FPÛFðÜFFPÛF— E»F ¶FõÜF PÎFè˜FÜFk £FF¶æFF õFÛFUÑFõ»FFÜFF: ÑF]ð=+PÞµÜFF:
õF=+FèFF¶Fh =+=a+©ÛFF¼FÜF ÛFF·FFPÚFPù¶F: æF¶FhõF EæFèÜFk ÜFP¼ ;FÎ¶FæÜFk
¶F¼WðF =+=a+©XNPÑF õFùFÜF:— JÎFk ;F _ùU¶æFF ;F˜š— õF ˜F ¶æFk
=+ÑF] aÞÑF]P©=+FÛFÍÜFW PÎFÍFFÜF ÒPõ»F¶F:— E»F ;F˜šÎFh ;FeUðÛFXðÛFµFF
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õFÎ¶FÑ¶F:— E¶F: = k+P˜F¼ h æF _‡FÛFFõFFÃ ÒõF ]Ñ¶F:— E·FFÎ¶FÞ W
æF_‡F=+X©ÞFPÎÎF;Fa¶ÜF =+Pè˜F¶Fh õFÑFa: =+ÑF]aÞ;FÎÍFF=_+ñ: ¶F¶ÑF]P©=+FÛF]ÎÛFX˜ÜF
¶F¼h ÚF‡FÜFÎFh =+=a+©WÎF æÜFFÑFFP¼¶F:— E¶F: õF¶ÜFÛFPÚFPù¶F: ÛFÛF ÛFF·FF
ÜF¶Fh ÑF]ßðFWµF =+XNPÑF õFùFÜF: =+FÜFa: ÎFY=+P=+ÎFF ;FÎ¶FæÜFPÛFP¶F—

(=+) PæF¼WèFW ÜFF·FF=+FáFW ÙFeü¼¸F: ÛFF·FF P=+ÛF]ÑFP¼ñ:? 2

(&F) ÑF]·F: ÛFF¶FÞk P=k+ Ò¶ÜF]æFF˜F? 2

(;F) ¶FõÜF ÛFF¶FF ÑF]·FWµF õFù =k+ ÒWÞÜFFÛFFõF? 1

(fF) =+=a+©WÎF =+»Fk ¶FõÜF HÑF=+FÞ: =_+¶F:? 3

–––––––––––
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